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Aufgabe 1

Forme in ein Produkt um. Klammere dazu méglichst viel aus wie im Beispiel a).
a) 4b + 32 = 4(b + 8) b) 45b + 36¢ + 18d = 9(5b + 4c¢ + 2d)

c) 5e + 30 = 5(e + 6) d) 10ac + 20c = 10¢(a + 2) e) 4x + 24 = 4(x + 6)
f) 8ad 4 32a = 8a(d + 4) g) 10b + 46e = 2(5b + 23e)

h) The + 28e = Te(b + 4) i) 3wy + 21w = 3w(y + 7)

j) 45v + 18z + 27y = 9(5v + 2x + 3y)
Aufgabe 2

Forme in ein Produkt um. Klammere dazu moglichst viel aus wie im Beispiel a).

a) 8v+ 32 = 8(v+4) b) 8a + 32 = 8(a + 4) c) Ty +28="7(y+4)

d) 3ae + 24e = 3e(a + 8) e) 6c+42=6(c+7) f) 82+ 16 = 8(z + 2)

g) 3bc + 6¢ = 3¢(b+ 2) h) bwy + 40y = by(w + 8) i) 4ab + 8b = 4b(a + 2)
j) Tw+35="T(w+5)

Aufgabe 3

Forme in ein Produkt um. Klammere dazu méglichst viel aus wie im Beispiel a).

a) 36x + 6z = 6(6x + z) b) 45d + 18e = 9(5d + 2e¢)

c¢) 40c + 50d = 10(4c + 5d) d) 400 + 32e = 8(bb + 4e)

e) 10e + 20 = 10(e + 2) f) 4y +20 = 4(y + 5) g) 5d + 30 = 5(d + 6)

h) 27v + 36z = 9(3v + 42) i) 80+ 40 =8(b+5) j) 28w + 49z = T(4w + Tx)
Aufgabe 4

Forme in ein Produkt um. Klammere dazu moglichst viel aus.

a) 45w + 10z = 5(9w + 22) b) 20w + 4y + 162 = 4(bw + y + 4z)

¢) 9z + 9y = 9(x + ) d) 216+ 14c+ 7d = 7(3b + 2c + d)

e) 45w+ 9y + 9z = 9(bw + y + 2) f) 44a + 2b + 40e = 2(22a + b + 20e¢)

g) 20w + 4y = 4(5w + y) h) 25w + 40z + 5y = 5(5bw + 8z + y)

i) 15a + 5¢ + 10d = 5(3a + ¢ + 2d)
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j) 120 + 3w + 3y = 3(4v + w + y)
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